sl axis is in degrees 60° or in radians —
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P B C D E F
1 radius 6 point a
210 60
=
(<] I 131
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Point a

this point has radius =6

the angle that is formed with the positive x

T

3
, T
Polar coordinates (6,60°) or (6,—)
3
Rectangular coordinates

(6 cos(60),65in(60)) or (6 cos(% )6 sin(% )

I

13
66 7)0r(3,3°\/§)

=(3.,5.19615)



13.11 T
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B

1 radius 4 |point b

210 150

[<] I

Di|point:=b
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1311 |

Point b
this point has radius =4

the angle that is formed with the positive x axis is in
- : .o
degrees 150° orin radians ——
6

-

51
Polar coordinates (4,150°) or (4,—)
Rectangular coordinates

57 5T
(4 cos(150),4 sin(150)) or (4 cos(— ),4 sin(—))
6 6

(4-#,4-%)01-(—2.\/5,2)

=]

=(-3.4641 2. )




W in degrees 125° orin radians —

"13.11 |

#‘f—‘x B C D

radius 8 point C

[~]

Foint cthis point has radius =8

the angle that is formed with the positive x axis is
2w

4

3-m
Polar coordinates (5,125°) or (8,—

Fectangular coordinates

2T 2T
(Bcos(l125),8sin({125)) or (& cos(=——, 8 sin—17)

8" 2 8 /2 yor (4[24 [2)
2 2

=(-5.65685,5 65685 )|
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1 radius

point

d

Point d

this point has radius =6

the angle that is formed with the positive x axis is in
degrees 315° orin radians —

Polar coordinates (6,315°) or (6 ’7:1_:!1: )

Rectangular coordinates

_ 7T VAL
(6 cos(315),6 sin(315)) or (6 cos(— ),06 sin(—))
4 4

6" ‘jj 6‘{7 yor (32, 3/2)

=(4.24264 ,-4.24264 )



[3]

this point has radius =8

the angle that is formed with the positive x axis is in

4- 7
degrees 240° orin radians ——

3

-9.78

-13.11

4-7
Polar coordinates (8,240 °) or (8,—)
3
Rectangular coordinates
_ 4-7 4T
(8 cos(240),8 s1n(240)) or (8 cos(— ),8 sin(—))
3 3

e £}

2 2

~(-4. -6.9282)

yor (4,41[3)

1 radius 8|point e
210 240

=
m___ 3]
El
Point e
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[3]

1 |radius 5 point f

210 30

[<] I

EIl5

Point f
this point has radius =5

the angle that is formed with the positive x axis is in

T
degrees 30° orin radians —

6
T
Polar coordinates (5,30°) or (5,—)
Rectangular coordinates

(5 cos(30),5 sin(30)) or (5 cos(— ),5 sin(% )

i1 53 5
5r=)or (——, =)
2 2 2 72

=(4.33013,2.5)
(

G-
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1 |radius 5|point g

210 210 4
[<] I IV
ET

Point g

this point has radius =5

the angle that is formed with the positive x axis is in
_ _ 77
degrees 210° orin radians —
6

T
Polar coordinates (5,210°) or (5, )
Rectangular coordinates

. 7-m o Tm
(5 cos(210),5s1n(210)) or (5 cos(—),5 sin(—))

=(-4.33013,-2.5)



6.66 | ¥ Point @ rectangular coordinates (7 ,3)

r=V[(7)+(3)1=V[49 +9] =V(58)
(:2.5)
3 =\/58
( 1 4) angle formed by positive x axis can be found with inverse
G trigonometry
(7.3) tan(©@)=3/7 so 6=tan ! (3/7)
(-7,2) A 6=23.1986° or 8=0.404892radians
H
Polar coordinates
1
(-5.0) /38 tan "1 (3/7))
= (8.0)
-10 C 71 L 10 (\/58 ,23.1986° ) or (\/58 ,0.404892radians)
(7.61577 ,23.1986 °) or
(7.61577 0.404892radians)
(-2.-3)
D
.5’_5) 1% 7|point a

2y
%]
[<| I 3]

76.66 CI|point




B
‘ (1,4)
G
(7,3)
(-7,2) i
H
1
(-5,0)
-10 C 71

76.66

Point b rectangular coordinates (-2.,5)
r=V[(-2)+(5)1=V[4 +251 =V(29)

_/»

angle formed by positive x axis can be found with inverse
trigonometry

tan (§) =5/2 so @=tan 1 (5/-2)
8 =-68.1986° or #=-1.19029 radians
OR 9-111.801° or #=1.9513 radians

Polar coordinates

29 tan 1 (5/-2)

(\/29 ,111.801°) or (\/29 ,1.9513 radians)
(5.38516,111.801 °) or

(5.38516,1.9513radians)

B

® |A B C D E F
1 |x -2|point b

2 y 5

=)

<| I

Di|b




Point ¢ rectangular coordinates (-5,0)
r=N[(-5 )Y +(0 Y ]=V[25 +0] =V(25)

=5

B angle formed by positive x axis can be found with inverse
-gl 4 ) trigonometry
—0 /-5 —tan "L (0 /-5
x _(7’3) tan () =0/5 so @O=tan " (0/5)
_ A #=180. ° or #=3.14159 radians
7,2
H Polar coordinates
: (5,tan" 1 (0/-5))
,tan -5
(-5.0) (8,09 . |
(5 ,180. ) or (5 ,Jtl'adlans)
-10 C 1 £ 10
(5.,180. °) or
(5.,3.14159radians)
(2,3)
D ~
€ |A B C D E F i
%53_5) 1 x -5|point c
2 ly 0
<— 5
76.66 B2|0




Point d rectangular coordinates (-2 ,-3)
r=V[(2)+(3)1=V[4+91 =V(13)

=13

i .( 1 ’4) ar.lgle formed by positive x axis can be found with inverse
G trigonometry
(7.3) tamn(@)=3/2 so 6-tan !(3/2)
(-7,2) A 6=56.3099° or §=0.982794 radians
:H OR 6=236.31° or #=4.12439 radians
! Polar coordinates
(-5,0) (8,09 (/13 tan* (372
10 C Nl F 10 (\]13 ,236.31°) or (JE ,4.124309 radians)
/ (3.60555 ,236.31 °) or
f,..-"“' (3.60555 4.12439 radians)
(2.3)/
¢
D

76.66
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-}g5,—5) N, 3
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76.66

G
(7,3)
(-7,2) i
H
1

(‘5_=0) (8,0)

10 C [l F 10
o)
D

Point ¢ rectangular coordinates (5,5)
r=\[(5)+(-5)"1=V[25 +25] =\(50)
52

angle formed by positive x axis can be found with inverse
trigonometry

tan () =5/5 so B=tan L (5/5)
0=-45.° or 8=-0.785398 radians
OR #=315.° or #=5.49779 radians

Polar coordinates
G2 tan "l (-5/5))
(5-\15,315.0) or (5-\15,5.497791-adians)

(7.07107 ,315. °) or

(7.07107 ,5.49779 rad1ians)

P |A B C D] E F
1 x 5|point e

2 ly -5

| |B




6.66 | ¥ Point /' rectangular coordinates (8,0)
r=V[(8)+(0)]=V[64 +0] =V(64)
(:2.5) .
B angle formed by positive x axis can be found with inverse
-'gl 4 ) trigonometry
(7.3) |@ @08 so o =tan "1 (0/8)
( 7.2 ) A #=0.° or #=0.radians
H Polar coordinates
1 -1
(8,tan ~ (0/8))
5.0 .1
( . ) (-8’0)‘ (8,0.°) or (8,0.radians)
-10 C I 1 £ 10 . 0. )
. 0. or
(8.,0.radians)
(2,3)

76.66

%53_5) 1 1x zpoint f




Point ¢ rectangular coordinates (7.,3)
r=V[(7 Y+(3 Y 1=V[49 +9 ] =V(58)

=\/ 58
angle formed by positive x axis can be found with inverse

trigonometry

tan (6) =3/7

(7.3) so @=tan ! (3/7)
A §=23.1986° or ©=0.404892radians

Polar coordinates

(5.0) o[58 tan~! (3/7))
’ \/58 ,23.1986° ) or (\/58 ,0.404892radians)

-10 C

76.66

r 10f(
(7.61577 ,23.1986 °) or
(7.61577,0.404892radians)

||

7 |point g




6.66

Point & rectangular coordinates (-7.2)
r=V[(-7)+(2)1=V[49 +4 ] =V(53)
=\[53

angle formed by positive x axis can be found with inverse
trigonometry

tan (8) =2/7 so O=tan 1 (2/7)

#=-15.9454° or 8=-0.2783 radians
OR #=164.055° or #=2.86329 radians

Polar coordinates

(/53 tan"1 2/7))

-10

/ 1

76.66

(\/53 ,164.055°) or (\/53 ,2.86329 radians)
(7.28011,164.055 °) or

(7.28011 ,2.86329 radians)

1 |x -7 |point h

2y 2

3 [
<] I >




